iy

3
P=si
i

1. ¥¥4
B4 5 S5 3 EE S S BER AR AR R IR 3 7S
JEATST TefE RS TAESR 1 TH 2 5 0 () | EEFHETE )

2. EBEAR

1) FEF4 IR ERE AT PSR
2) BT 365 H H &f1 64 447 1H

£ Sf T4 3H3LA

3) wHwyI
AR IE, TP C, ) RSP 1 350 2 REABIRLC B 5 kM
AR (T 5 2 U0 K O IRE SR L, MBI O M A SR AT 5 2
EHI LT BB Th D,

4) FEHBNA
- BRETEBICBET 2 F A
* THICBT D BRI ORI

L [ LAGEE



%lljll
I

Ews4 | BSGRESGERE MR G G B E HEE ARG S
H H
THH - T - fER] # 4 % OB N B
[EREINGE = 19, 230, 360
[EEC YN =X 19, 230, 360
R EHE AR E B 52V 19, 230, 360 | ARXFIHAEFE BT
12 7 A
[R5 S =4 2y 729, 048
[ERES S 2y 729, 048
EHHLE X 688, 608 | HE ML
1 =
¥HH B B SR X 40, 440 | 3% A B BGERE
1 A
B (ZOtsmER <) = 19, 959, 408
Z DA = 6, 409, 478
— R A = 14,191, 114
EHRE = 40, 560, 000

E sz TR R



